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What was the average ticket cost per person?

Model Questions

37X3.T+23X23+2x3.7X23
4.6x4.6-3.4%x3.4 '

345!

3 1
2) 34 4 4 9 32
If 8% of a number is added to it,
the result 1s 810 what is that
number?
a) 700 b) 750 c) 722 d) 745.2
A trader buys some article in
whole sale at Rs. 150. If over and
above he makes an extra expen-
diture of 12%, then at what price
should he sell this article to make
a profit of 10%?
a) Rs. 184.80 b) Rs. 183
c) Rs. 179.20 d) Rs. 185.80
In an election a candidate got
62% vote and he won by 144
votes. How many votes did the
winning candidate get?
a) 278 b) 372 c) 398 d) 405
The cost of digging a pitch is Rs.
1347. If the salary of the labourers
is increased by 1/8 and the hours
of work by 1/20 then what will be
the approximate cost of digging it?
a) Rs. 1500  b) Rs. 1533
c) Rs. 1443 d) Rs. 1663
A 1s 70% more competent than B.
If B does a work in 34 days, then
in how many days will A do it?
a) 11.2 b) 155 ¢)20 d)21
In a drama, the audience (view-
ers) were charged Rs. 15 on the

b) 4

10.

11.

12.

first day, Rs. 7.50 on the second
day and Rs. 2.50 on the third day.
The attendance on the three days
were respectively in the ratio of
2 : 5 : 13 what was the average
ticket cost per person?

a) Rs. 8.33 b) Rs. 6

c) Rs. 6.66 d)Rs. 5

Two taps A and B fill a tank resp-
ectively in 6 and 8 minutes. If the-
se two taps are opened one by one
for one minute each then how long
will it take for the tank to fill up?

6. .
2) 6 i Minutes b) 6. Minutes

3. . i
c)3 . Minutes  d) 5 Minutes

Which amongst the following is

less than 1/5?
8 8 2 8
a)

35 037 9y D g

A person borrowed some money
at 10% compound interest. If at
the end of three years he returns
Rs.2662 then how much money
did he borrow?

a) Rs. 2000  b) Rs. 1900

c) Rs. 1800 d) Rs. 1980
How much distance will the 500
rounds of a wheel of 1.26 m dia-
meter, cover?

a) 650 m b) 1570 m

c) 1980 m d) 3960 m

In a city, the average temperature
for the first four days was 58°C.
The average of the second third,

13.

14.

15.

RRB

Arithmetic
gpecic!

fourth and fifth day was 66°C. If
the ratio of the temperature on
the first, and fifth day is in the
ratio of 7 : 11, then what was the
temperature on the fifth day?

a) 56 °C b) 78 °C
c) 88 °C d) 90 °C
The average of two numbers is

62. If 2 is added to the smaller
number, then the ratio between
them becomes 1 : 2. What is the
smaller number?

a)60 b)30 c¢)84 d)40

16 men or 20 women can do a
work in 25 days, then in how
many days will 28 men and 15
women do the same work?

27
9 11
a) b) 3 days

c) 8 days d) 10 days

In a compound element copper
and zinc are in the ratio of 5 : 2
and in another compound zinc and
tin are in the ratio of 3 : 2. If two

days

16.

17.

18.

19.

20.

parts of the first compound and
one part of the second compound
are melted together so that a new
compound of copper, zinc and tin
are formed, then what will be the
ratio of the three compounds?
a)5:5:4 b)10:7:2
c)5:6:4 d)10:7:8

If 2/3" of a number is subtracted

7
from _ of the same number, then

the result will be 2 more than the
number. What is that number?

a)42 b)21 ¢)9 d)3

If a circular (spherical) marble of
10 cm. radius has been molten to
form smaller circular marbles of
0.5 cm. radius, then how many
smaller marbles will be formed?
a) 200 b) 4000
c) 6000 d) 8000
; [3X4.8X2.5%2.5-
(4.8-2.5)" —
[3><4.8><4.8><2.5 ]: 0
4.8Xx4.8+2.5%2.5+4.8%2.5
a)2.3 b)73 c)144 d)7.5
If the length of a rectangle is
decreased by 10% and the width
is increased by 10%, then by how
much will the area of the rectan-
gle increase or decrease?
a) 10% less b) 1% less
c) 10% more d) 1% more
How much time will be taken by
a train 100 meters long to cross a
pole at the speed of 40 km/hr?
a) 9 seconds b) 10 seconds

21.

22,

23.

|
c)9 ; seconds d) 9 5 seconds

A and B do a work respectively
in 12 and 15 hours. If they work
one by one for one hour each
how much time will they take to
finish the work?

a) 14 hours b) 14 ihours

1
c) 13 A Hours  d) 13 hours

In what proportion should water
be mixed in a liquid of Rs. 12 per
liter, so that when it 1s sold at Rs.
13.75 per liter, there is a 25%

profit?
a)10:1 b)11:1
c)19:2 d)12:1

There are 720 students in a scho-
ol, in which the ratio of boys,
girls is 7 : 5. How many more
girls should be included so that
the ratio becomes 1 : 1?

a) 60 b) 80
c) 120 d)150
KEY
I)a 2)b 3)a 4)b 5)c
6)c 7)d 8)a 9)c 10)a
II)c 12)c 13)d 14)d 15)b

16)d 17)d 18)a 19)b 20)a
21)c 22)b 23)c

- N. Vinaykumar Reddy,
Subject Expert.
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at is the capacity of the orange coloured tank?

Y. Arunveera Kumar

Subject Expert
IACE

Directions (Q.No.1-5) Read the
Jollowing information and answer
the questions.

Eight players P, Q, H, B, X,Y, M,
& N play for three different teams
CSK, SRH and MI and like eight
different food items viz. Chocolate
chips, Popcorn nuggets, Potato we-
dges, Green beans, Mashed potatoes,
Cheese sticks, Pizza and Burger not
necessarily in the same order. At least
two and not more than three players
play for the same team. Q plays for
SRH and likes Chocolate chips. H
likes Green beans but do not play for
CSK. No one from MI likes Burger.
The only other person in same team
with Q likes Potato wedges. X likes
Burger and Y likes Popcorn nuggets.
N does not like Potato wedges and
plays for the same team with X. P
and M both play for MI. The one
who plays for MI does not like
Cheese sticks. M does not like Pizza.
1. Which food item does M like?

a) Pizza

b) Mashed potatoes

c) Cheese sticks

d) None of these

e) Cannot be determined
2. Who likes Potato wedges?

a) B b) M c) N

d) B or M e) None of these
3. Which team has only two of the

eight players?

a) CSK b)) MI

d) MI or CSK

e) Cannot be determined
4. Which of the following group of

persons play for MI?

¢) SRH

Key with Solutions

(1-5):
Person Team Food
X CSK Burger
N CSK Cheese sticks
Y CSK Popcorn nuggets
Q SRH Chocolate chips
B SRH Potato wedges
H MI Green beans
P MI Pizza
M MI Mashed potatoes
)b; 2)a; 3)c; 4)d; 5S)e;
(6-10):

10 (Blue)

(Purple) 12 25 (Black)
(Grey) 15 20 (Yellow)
8 (Orange) 22 (White)

11 (Red)

a)M, Y, B b)N, X, Y
c) X, H, Q d)H, P, M
e) None of these
5. Which of the following combina-
tions of team, person & food
item 1s correct?
a) MI - P - Cheese sticks
b) SRH -Q- Potato wedges
c) CSK - N - Chocolate chips
d) CSK - M - Mashed potatoes
e) None of these

Directions (Q.No. 6-10) Study
the following information carefully
and answer the questions given
below:

8 water containers with different
capacity in litres viz. 8, 11, 22, 15,
10, 25, 20 and 12 (not necessarily in
the same order) are kept in a circular
arrangement. As their output taps are
towards the center of the circular
arrangement, they can be considered
to be facing the center. Each of those
tanks 1s of different colours viz. Blue,
Red, Black, Orange, Yellow, White,
Grey and Purple but not necessarily
in the same order.

25 litre tank i1s not of orange
colour. 8 litre tank is kept between a
Grey and a Red coloured tank. 11
litre tank 1s third to left of a Black
coloured tank. 10 litre tank is of Blue
colour and is kept immediate to the
right of a 25 litre tank. Red coloured
tank is not kept immediate next to 12
litre tank. 8 litre tank 1is kept
immediately next to a 15 litre tank.
Purple coloured tank is kept immedi-
ate opposite to a 22 litre tank, which
is of white colour. 22 litre tank is kept
second to right of 8 litre tank which is
to the immediate right of 15 litre tank.
Blue coloured tank is second to right
of 20 litre tank, 1s of Yellow colour.
6. What is the capacity of the

orange coloured tank?

a) 8 litres b) 25 litres
6)a;, 7c; 8a 9c; 10)e;
(11-15):
11) nice
sweets
mice
tangy
Ans: ¢
12) food
nose eyes grass beds
Ans: d
13)
jockey jack
socks
honey iacket
Jacke Ans: d
14)
snakes plants basil fresh  night
pickle Ans: a
15)
candy icecotton
fibre Ans: e

SBI
Clerks

Special
Reasoning

c) 12 litres  d) Data inadequate
e) None of these
7. What is the capacity of the tank
kept between 15 and 10 litre tank?
a) 8 litres b) 11 litres
c) 12 litres d) 25 litres
e) Data inadequate
8. What is the colour of 25 litre tank?
a) Black b) Purple
c) Red d) Data inadequate
e) None of these
9. Which of the following statement
is correct?
a) Black coloured tank 1s of 8 litres
b) 25 litres tank is of purple colour
c) 12 litres tank is kept imm-
ediate right of 10 litres tank
d) 20 litres tank 1s kept second to
the left of 11 litres tank
e) 22 litres tank is kept between 8
and 15 litres tank
10. Which of the following combina-
tions is not correct?
a) 8 litres tank - orange
b) 20 litres tank-Yellow
c) 11 litres tank - Red
d) 10 litres tank - Blue
e) 12 litres tank - White

Directions (Q.No.11-15): Some
statements are given followed by
some conclusions.

You have to consider the statem-
ents to be true even if they seem to be
at variance from commonly known

(16-18):
Bright cl
Colour Sa
Yellow Jo
Is Nk
Blue Da
Clothes Rs
in Fa
Shade ha
16) b; 17) a; 18) a;
19) ........ Rashmi ........ (10) ....
Mansi ...... (14)
15+10+1 = 26 Ans: b;
200K >J =21 (K > 1 be definitely
true) Ans: c¢;
21) B=P>D =S >A (A <B holds
true) Ans: c;

22)G=U<B=E<H=0<A(B
< H' and 'A > G' definitely hold
true) Ans: d;
23)) LXA=B<Q<T=P(L>P'is
definitely false) Ans: e;

facts. You have to decide which of
the following conclusions if any,
follow from the given statements:
11. Statements:
All sweets are mice.
Some mice are nice.
No nice is a tangy
Conclusion:
1) Some mice are not tangy
1) Some mice being tangy is a
possibility
1i1) Some sweets are not tangy
a) Only (i) follow
b) Only (i1) or (iii) follow
c) Only (1) or (i1) follow
d) All follow e) None of these
12. Statements:
Some noses are eyes.
Some eyes are grasses.
All grasses are beds.
No grass is food.
Some foods are Eyes
Conclusion:
1) Some eyes are beds
11) Some beds being food is a
possibility
ii1) Some beds are definitely not
food
a) Only (1) follow
b) Only (i1) or (ii1) follow
c) Only (1) or (i1) follow
d) All follow e) None of these
13. Statements:
All jockeys are socks.
Some socks are not jack.
No jack is a honey.
Some honeys are socks.
No honey is jacket.
Conclusion:
1) Some socks are not jacket.
i1) Some socks being jacket is a
possibility.
i11) All jockeys being jack is a
possibility.
a) Only (1) follow
b) Only (i1) or (ii1) follow
c) Only (1) or (i1) follow
d) All follow e) None of these
14. Statements:
All snakes are plants.
All plants are basils.
All basils are fresh.
Some fresh is night.
No basil is pickle.
Some pickles are fresh.
Conclusion:
1) All night being pickle is a
possibility
11) some fresh being snake is a
possibility
ii1) Some pickle being snake is a
possibility
a) Only (1) follow
b) Only (ii) or (iii) follow
¢) Only (1) or (i1) follow
d) All follow e) None of these
15. Statements:
All candy are cream.
No candy is cotton.
All cotton is ice.
Some ice is cream.
No cream is fiber.
Conclusion:
1) Some ice is fiber

11) Some ice is not cotton

111) Some ice is not fiber

a) Only (1) follow

b) Either (1) or (i1) and (i11) follow
c¢) Either (1) or (i11) and (11) follow
d) All follow e) None of these

Directions (Q.No. 16-18): Study
the following information carefully
and answer the questions given
below:

In a certain code language

'blue in bright yellow ' is written

as 'cl fa jo da'.

'shade in blue clothes' is written

as 'ha fa rs da’',

'blue bright clothes colour ' is

written as 'sars cl da' and

'colour 1s bright yellow ' is

written as 'cl sa nk jo',

16. What is the code for 'bright cloth-
es' in the given code language?

a) cl fa b) clrs c) dafa

d)rsda e) None of these
17. What is the code for 'shade' in the

given code language?

a) ha b) fa C) 1S

d) da e) None of these
18. What does the code 'jo' stand for

in the given code language?

a) yellow b)in c) blue

d) Bright ) None of these
19. Thirty five girls are standing in a

row, Mansi is 15th from the right

end and there are 10 students
between Mansi and Rashmi.

What is Rashmi's position from

the right end of the row. If she is

sitting to the left of mansi?

a) 25 b) 26 c) 27

d) 28 e) None of these
20. In which of the following expre-

ssion will the expression K > I be

definitely true.

A)G>H,H=1,1>J,J<K
b)G>H,H=1,1>J,J<K
0)G>H,K>J,1<J,1=H
HI>L K<, H=1L,H<G

e) None of these

21. Which of the following would
replace % and # in the following
expression so that A < B holds
true?
Q<D%S=2A=W;B=2P#D=
Z>X
a)>, < b) =, >
c)=>, 2> d) >, =
e) None of these

22. In which of the following expre-
ssions does the expression 'B <
H' and 'A > G' definitely hold
true?
a) A=B<F>H=K>G>D
b)D>A=G>2B=F<G<H
c)A<O>G<I=H=>=S=B
d)G=U<B=E<H=0<A
e) None of these

23. In which of these expression 'L >
P' is definitely false?
A)W<P>2S>2Q<N>A=>2L>V
b)N>L>B=D>A>P=R
c) BSA>L>W2=>2V<P<S
d)S>L=C>2H2>2P<Q=T
e)B>L<A<Q<T=P<G
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Which of the following pairs 1s correct?

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

Which of the following is a proper
noun?
a) Doctor b) City ¢) July d) Tommy
Which of the following is not proper
noun ?
a) Anantapur b) Tagore c) English d) Dog

is a common noun
a) Bouquet b) Pack c) flower d) venice

is not a common noun
a) Iron b) river ¢) chair d) Bottle

is a material noun
a) Bread b) Gold c) Table d) Building

is not a material noun

a) Flour b) Copper c¢) Silver d) Chain
Which of the following is a collective
noun?
a) Swarm b) Flies c) Papers d) bag
Which of the following is not a collec-
tive noun ?
a) Band

b) League

¢) Squadron d) Money

Fleet is the collection of

a) animals b) flowers c) ships d) cards
Group of animals is called
a) cattle b) class c¢) troop d) herd
Match the following

Collective noun collection

1) Pile a) robbers
2) Band b) Trees
3) Clump c) Geese
4) Gaggle d) books

A) 1-a,2-b,3-c,4-d B) 1-d,2-a,3-b,4-c

C) 1-d,2-c,3-b,4-a D) 1-a,2-d,3-c,4-b

is not a type of noun

a) Common noun b) Material noun

¢) Static noun d) Abstract noun
Which of the following is an abstract
noun ?

a) mastery b) author ¢) range d) island
Which of the following is not an
abstract noun ?

a) Folly b) Prevention

c) Pleasure d) King

Match the following with correct
abstract nouns

Word Abstract noun
a) Young 1) Poorness
b) Brave 11) Youth

c¢) Poor 1i1) laughter
d) Laugh 1v) Poverty

v) Bravery

vi) Youngness
A) a-vi, b-v, c-1v, d-1i1
B) a-ii, b-v, c-1v, d-iii
C) a-ii, b-v, c-1v, d-iii
D) a-ii, b-v, c-1, d-iii
is the abstract noun of

school.
a) school
¢) schooled

b) schools

d) schooling
is the correct abstract
noun form of proud

a) proundness  b) pride
c) proudly d) proud
is a wrong plural.
a) Mangoes b) Negroes
c) Logoes d) Volcanoes

is a correct plural form

a) Copys b) Luxurysc) Trophys d) Bodies
is not a correct plural form
a) Halfs b) Loaves c¢) Wolves d) Hooves
is the pural of swine

a) Swines b) swine c¢) Both d) None

is the plural of man of war
a) man of wars b) men of wars
c) men of war d) None

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

3S.

36.

Match the following singular - plural
Singular Plural

a) Medium 1) Formulas

b) Startum 11) Starta

¢) Formula 111) Media

d) Syllabus 1v) Formulae

v) Mediums

vi) Syllabi

A) a-1, b-ii, c-iii, d-iv

B) a-v, b-1v, c-iii, d-1

C) a-iii, b-ii, c-1, d-vi,

D) a-iii, b-ii, c-iv, d-vi,

Which of the following is singular

a) scissors b) Head-man ¢) Pants d) alms

is a singular noun.
a) Vermin b) Public
¢) Movables d) Poetry

is a plural noun.
a) advice b) alphabet c) jeans d) fuel
is a plural noun.

b) Summons

a) Politics

c) Measles d) gentry

is not a plural noun
a) Luggage b) Audience
c) Movables d) Thanks

is not a singular noun

a) Innings b) Tongs c¢) Ethics d) Gallows
Find the true statement

a) 'Pliers' is a plural noun

b) Valuables is a plural noun

c) Cattle is a plural noun d) All are true
Find the false statement

a) Mediums is the plural of medium

b) Governors generals is a plural noun
c) Only (a) d) Both (a) and (b)

Match the masculine and feminine gen-
ders

a) drake 1) witch
b) nephew 11) lass
c) wizard 111) duck
d) lad 1V) niece

A) a-i, b-ii, c-iii, d-iv

B) a-iv, b-iii, c-ii, d-1

C) a-iii, b-iv, c-i, d-ii

D) a-ii, b-iii, c-1, d-1v

Which of the following pairs is correct
? a) Bachelor-lass b) horse-hind
¢) monk-nun d) ram-roe

Which of the following pairs is incor-
rect? a) stag- hind b) Earl- count-
€ess

c) drone - bee d) horse - ewe

Which of the following pairs is correct
o

a) Sheep - Sheeps b) Deer - Deers

c) Species- species d) Goose - Goose
Which of the following is incorrect ?

a) Proof - Proves b) Calf - calves

c) Life- lives d) Scarf- scarves

(37-40) : Find the wrongly spelt word /

37.

38.

inappropriate word.

My brother - in - laws (a) have a civil sup-
plies (b) shop in which subsidy rice (c)
and kerosene (d) are distributed

a) There are four cuckoos in the nest

39.

40.

b) The house is infested with mouses

c) Five kilos of sugar is bought

d) I need two radios

My analysis (a) is to strengthen govern-
ment (b) schools, both mediums (c) must
be introduced in each school (d)
Yesterday, there was a seminar (a) for
which five hundreds (b) students of sta-
tistics (c) made their presence (d)

(41-70) The following sentences have

41.

42.

43.

44.

45.

46.

47.

48.

49.

50.

51.

52.

53.

54.

5S.

56.

57.

58.

59.

60.

61.

62.

63.

64.

65.

66.

67.

68.

69.

been divided in to A, B, C,D. There is
a grammatical error in A or B or C.
Find it out. If there is no error your
option is 'D' ( No error)

The soldiers (a) / are marching (b) / with
torchs in their hands (¢) / No error (d)
The employees have (a) / given a memo-
randa (b)/ about their problems (c) / No
error(d)

The baby has been (a) /given two spoos-
ful (b) / of syrup (c) / No error (d)

One should not (a) / have proudness (b) /
on one's assets (c) / No error (d)

The gang was (a) / repairing the track(b) /
between Kurnool and Hyderabad (c) No
error (d)

The duchess was (a) / so good looking that
(b) / everyone appreciated his charm (c)
No error (d)

The Poetess (a) / expresses his (b) / feel-
ings beautifully (c) / No error (d)

She has (a) / Mathematics at (b) / her fin-
ger's end (c) / No error (d)

We have (a) / enjoyed ourselves (b) / a
holiday of a month (c) / No error (d)
The weight of a ton (a) / is too much (b) /
for anyone to carry (c) / No error (d)

We read in books (a) / that Akbar's the
great's b/ reign was full of order (c) No
error (d)

The house's roof (a) / is badly in need (b)
/of repairs (c) /No error (d)

The Public is (a) / listening to the (b) /
speech attentively (c) / No error (d)

I know that (a) / the cattle is grazing (b) /
in the meadow (c) / No error (d)

She has prepared a will (a) / in which it is
said that (b) / all her movable will go to
her grandson (c) / No error (d)

The proceeds of (a) / the sale was (b) /
given to the victims (c) / No error (d)

It is well known (a) / that preventing (b)
/ 1s better than cure (c) / No error (d)

The diligentness of (a) / the students must
(b) / be appreciated (c) / No error (d)
We should (a) / treat pleasing (b) / and
pain equally (c) / No error (d)

We should practice (a) / anything a lot (b)
/because practice makes man perfect (c) /
No error (d)

It is a tall building (a) / and it consists of
(b) / six stories (c¢) / No error (d)

The bread is so (a) / tasty that I (b) / have
consumed four loafs at one go (c¢) / No
error (d)

The designer has (a) / prepared two dif-
ferent logos (b) / and sent us (c) / No error
(d)

The agendum (a) / of the meeting (b) /
include ten points (¢)/ No error (d)

The room was (a) / infested with rats(b) /
and the furnitures was damaged (c) / No
error (d)

Athletics 1s (a) / given less prominence
(b) / in our country (c) / No error (d)

The soldiers fought (a) / bravely in kargil
war and (b) / they were the heroes of India
(c) / No error (d)

Though he was (a) / on leave he started (b)
/ immediately at the call of duty (c) No
error (d)

These are (a) / the books Ravi (b) / pre-

70.

(71

71.

72.

73.

74.

75.

76.

77.

78.

79.

80.

N LAt OO ~NOOOTPPLON =

N
—
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serve them (c) / No error (d)
We contributed (a) / a month's salary (b) /
to the victims of floods (c) / No error (d)

-80) Read the following sentences. In
each of the sentences , part of the sen-
tence is underlined. Make improve-
ment if required. If no improvement is
required. Then pick the option 4.

The beautiful sur-
rounding of the place
enchanted me.

a) Sorrounds of the
place

b) Surroundings of
the place

¢) Sorround of the
place d) No correc-

tion required O.Srinivasa
It is absolutely nec- Reddy
essarily to participate Sr. Faculty

in any project for Noble School of
social upliftment. Banking

a) absolutely neces-  geenu2013@gmail.com

sary
b) absolutely needy

c) absolutely necessity

d) No correction required

We have reliably inform that the new
branch will not open till next year.

a) reliably to inform b) informed reliability
c¢) reliable information

d) No correction required

All the employees willingly contributed
the salary of a month for cyclone victims.
a) the salary for a month

b) a month's salary

c) a month salary

d) No correction required

As he was very busy he couldn't complete
even two-third of the book

a) even twos -third b) even two - thirding
c) even two- thirds

d) No correction required

His house is at a stone's throw from here.
a) at a stone throw b) at a stone throwing
C) at a stone's throwing

d) No correction required

Mr. Sreenivas is the English teacher in
our institute.

a) the teacher of English

b) the English teaching

c) the teaching of English

d) No correction required

There is no place in this compartment

a) no space b) no seats

¢) no room d) No correction required
Ethics are essential for the survival of
human beings.

a) 1S b) was ¢) were

d) No correction required

Jyothi and Vidya are my family members.
a) my family member

b) mine family member

c) members of my family

d) No correction required

80

D 62) C
D 22 C 42)B 63) D
C 23) D 43) B 64) A
A 24 B 44 B 65) C
B 25D 45 A 66) D
D 26 C 46)C 67) C
A 27)D 47) B 68) C
D =28 A 48 D 69) B
C 29 B 49 C 70) D
)D 30)D 500 A 71) B
)B 31) D 51) B 72) A
)C 32)C 520 A 73 C
A 33) C 53) A 74 B
)D 34D 54 B 75 C
)B 35 C 55 C 76) D
)D 36)A 56 B 77) A
VB 37)A 57)B 78 C
) C 38 B 58 A 79) A
) D 39) C 59) B ) C
) A 40) B 60) A
) B 41) C 61) C
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